
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

2٫984 × ________ = 2984 4٫566 × ________ = 45.66

10٫021 × ________ = 1002.1 8٫93 × ________ = 893

1٫685 × ________ = 1685 9٫444 × ________ = 9444

8٫016 × ________ = 801.6 4٫198 × ________ = 4198

6٫003 × ________ = 60.03 7٫701 × ________ = 7701

1٫532 × ________ = 15.32 7٫961 × ________ = 79.61

9٫371 × ________ = 9371 10٫309 × ________ = 10309

1٫578 × ________ = 157.8 5٫014 × ________ = 50.14

10٫041 × ________ = 100.41 8٫561 × ________ = 8561

9٫849 × ________ = 984.9 4٫373 × ________ = 437.3
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

2٫984 × 1000 = 2984 4٫566 × 10 = 45.66

10٫021 × 100 = 1002.1 8٫93 × 100 = 893

1٫685 × 1000 = 1685 9٫444 × 1000 = 9444

8٫016 × 100 = 801.6 4٫198 × 1000 = 4198

6٫003 × 10 = 60.03 7٫701 × 1000 = 7701

1٫532 × 10 = 15.32 7٫961 × 10 = 79.61

9٫371 × 1000 = 9371 10٫309 × 1000 = 10309

1٫578 × 100 = 157.8 5٫014 × 10 = 50.14

10٫041 × 10 = 100.41 8٫561 × 1000 = 8561

9٫849 × 100 = 984.9 4٫373 × 100 = 437.3
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